
GR 150

03. GUARD RAIL

BARRIERA SINGOLA
SINGLE-RAIL BARRIER

GRT 150

GRS 150

THREADED ROD M20

GRC 150

NUT M20

WASHER  M20

WASHER  PE M20

  100    300    100  
  500  

  200    600    200  

  1000  

  200    1100    200  
  1500  

  200    800    800    200  

  2000  

  200    1300    1300    200  

  3000  

  200    1200    1200    1200    200  

  4000  

  5
0 

 
  1

52
  

  2
02

  
  1

46
,1

0 
 

  120  

BARRA FILETTATA M20

GRS 150

GRT 150
RONDELLA M20

DADO M20

GRC 150

RONDELLA PE M20

  175    400    175  
  750  

IMPACT RESISTANCE: 3200 J

8765

Il 
pr
es
en
te
 
di
se
gn
o,
 
a 
se
ns
i 
di
 
le
gg
e,
 
e'
 
di
 
pr
op
ri
et
a'
 
de
lla
 
M
P
M
, 
FR
AT
TE
 
di
 
Sa
nt
a 
G
iu
st
in
a 
in
 
C
ol
le
 
(P
D
) 
e 
no
n 
pu
o'
 
es
se
re
 
ri
pr
od
ot
to
, 
ut
ili
zz
at
o,
 
ne
' 
co
m
un
ic
at
o 
a 
te
rz
i, 
se
nz
a 
pr
ev
ia
 
au
to
ri
zz
az
io
ne
.

E

F

D

21 43

C

B

A

4321

Scala Denominazione

Materiale

Nr. Disegno

Rev. n°. Data Modifica:

1° Controllo

2° Controllo

Q.tà

Firma

 GR 150 EXP
_____

08/06/17 Fabio M.

1:5
_____ 

_____ _____

01 AGGIORNATO RESISTENZA

_______

         Via Europa 2, Fratte  (PADOVA) Italy
    www.mpmpvc.com  E-mail: info@mpmpvc.com
     Tel +39.049.9301773 Fax +39.049.9300427

'56475+10'�/#6'4+'�2.#56+%*'
_______

HEAVY LOAD /
FOR FORKLIFTS

36


